




















fojk jdr úNd.h 2024
10 fY%aKsh 

.Ks;h - ms<s;=re m;%h

01'

02'

03'

04'

05'

06'

07'

08'

09'

10'

11'

12'

13'

14'

15'

16'

17'

18'

19'

20'

21'

22'

23'

24'

25'

^µµµ& 5'5

250 km

3
125 = 5

22 cm

0
40

wjqreÿ 3

24x y

ñksiqka 8

10  ́8 = 80

0
x = 30

(A È B)'

(x + 8) (x + 3)
2

x  + 8x + 3x + 24

0PQR = 70

x = 1, x = -3

û , ü

ñks;a;= 6

2
154 cm

2x + 30  + 90  = 180  fyda 2x = 600 0 0 0

3x + 60 = 180

10000 = 1200

100
5
2

1
2

22
7

12
100

4
7

480
80

1
4

22
7

´

´

´

1́4

¸ - A fldgi

ol=Kq m<d;a wOHdmk fomd¾;fïka;=j - 10 fY%aKsh .Ks;h ^ms<s;=re m;%h&

02

02

02

02

02

02

02

02

02

02

02

02

02

02

02

02

02

02

02

02

02

02

02

02

02

01' µ&

µµ&

µµµ&

µ¶&

2
5

3
5

¸ - B fldgi

1 

1 

-

-

=

^

´́ ´

1

1

1
1

1

1

1

1

1

1

1

1

1

1

1

1

1

14 14

0
60

x + y =3

ABC D / XYZ D ^flda'flda'md'&

ABC D , XYZ D  ^flda'flda'md'&

- 2

OB, BC

0
x + y = 90

x  = 7

= 

0BOC = 20

0
2x + 2y = 180

7
6x

1
6

4 - 0
0 - 2

^

A

B

C
7 cm

7 cm

m:h" P ,l=Kq lsÍu

m:h we|Su

1

1

1

1

1

1

1

1

1+1 02

02

03

03

3
5

2
5

200  ́5

1000 ml

1 l

2
5

4
5

2
3

2
5

4
5

1
5

ka

+ =

=

10



ol=Kq m<d;a wOHdmk fomd¾;fïka;=j -  ^ms<s;=re m;%h&10 fY%aKsh .Ks;h

03' (a)

(b)

1

1

1

1

1

1

1

1

1

1

1

1

1

1

1

1

1

1

1

4

4

1

1

1

1

1

3

3

1

1

1

1

02

02

02

02

02

02

02

07

03

01

02

02

2

5

02

02

02

07

03

03

07

02

02

02

02

02

02

02

02

02

02

02

02

02
10

02' µ&

µµ&

µµµ&

µ¶&

µ&

µµ&

µµµ&

µ&

µµ&

¶&

f.dajd

120 : 140

6 : 7

60
360

200
40

8
100

2
100

5
11

1
4

22
7

616
28

1
4

44 cm

= re' 40625

= re' 49600

= 

= 

32500

re' 40625

fyda

124 cm

2616 cm

2
1120 - 616 = 504 cm

22 cm

28

2
40  ́28 = 1120 cm

28

44 + 40 + 28 + 12

22
7

130
100

12
100

130
100

125
100

125
100

3
11

2
11

5
11

5
11

480
40

4480
4

200
360

1
6

10

10

04'

05'

01'

02'

04'

03' (a)

(b)

(a)

(b)

µ&

µ&

µµ&

µµµ&

µ¶&

µ&

µ&

µµ&

µµµ&

µ¶&

¶&

µµ&

y = - 4

41

41

2a + 2b = 80 / a + b = 40
a - b = 10

10  ́15
10 + 15

2a = 50 , a  = 25 , b = 15

2b = 30 , b  = 15 , a = 25
fyda

fyda fjk;a ms<s.; yels 
ms<s;=rla

(0, - 4)

x = (- 2), x = 2

0 < x < 2

ksjerÈ m%ia;drhg

¶&

µµ&

µµµ&

µ¶&

¶&

 ́360

56000  ́

4480  ́

5  ́ 6  ́ 16 

re' 4480

re' 1120

re' 89'60

480

4

 ́1800

21800 m

21000 m

 ́2

25000

40000 2 + 40000

25000

32500

 ́28

 ́

 ́

 ́

 ́

 ́

 ́

 ́

10

10

10

10

´́ ´

2

¸¸ - A fldgi

}

= Èk 6



ol=Kq m<d;a wOHdmk fomd¾;fïka;=j - .Ks;h ^ms<s;=re m;%h&10 fY%aKsh 

05'

06'

1

1

1

1

2

1

1

1

1

2

2

02

02

06

1

1

1

1

1

1

1

1

1

1

1

2

105

05

02

01

03

02

02

02

04

02

02

02

02

02

042

2

1

1

2 04

02
10

10

µµµ&

µ¶&

µ&

µ&

µµ&

µµµ&

µ¶&

¶&

µµ&

2 2
n  + (n + 3)  = 15

fldaK ukqj

È.xYh

ksjerÈ o< rEmhg

1 cm

mßudK rEmhg

72.3 m

1 cm

1 : 1000

10 m

1000 cm

2n  + 12n - 9n - 108 = 0

2 2n  + n  + 6n + 9 = 225

(n + 12) (n - 9) = 0

22n  + 6n - 216 = 0

n = 9

2
n  + 3n - 108 = 0

9, 12, 15

å f x = 1220

40.6  ́100  ́5 = re' 20300

å f x ;Srh

1220
30

ksjerÈ rEmigyk

AB = AC
ABPQ yd ACRS iudk 
p;=ri% folls'

AP =  AR
PAR iuoaúmdo ;%sfldaKhls' 

0QAS + SAC + BAC + BAQ = 360

ABC  = ACB (AB = AC)
0

ABP  = ACR = 90

ABP  + ABC = ACB + ACR

PBC = BCR

PBC , BCR i,lkak'

PB = CR ^o;a;h&

PBC = BCR ^idê;hs&

BC = BC 

PBC = BCR ^md'flda'md'&

PC = BR ^wx.iu ;%sfldaK
            wkqrEm wx.&

0 0 0 0QAS + 90  + 40  + 90  = 360

0 QAS = 360
0 0- 220 = 140

PO = OQ o;a;h

PO = OR

BO = OC 

SO = OQ

BOS = COQ ^m%;suqL fldaK&

BS / AC ^taldka;r fldaK
           iudk ùu&

SBO = OCQ 

BOS D » COQ D ^md'flda'md'&

QO = OS

PO = OQ = OR = OS

PQRS iup;=ri%hls'

PQRS iup;=ri%hls'

BOS D = COQ D i,lkak'

^noaO mdo$ ish`M mdo 
iudk ùu&

10

10

10

07'

08'

09'

10' µ&

µµ&

µµµ&

µ&

µ&

µµ&

µµµ&

µ¶&

2n - 1

ks¾udK f¾Ld meyeÈ,sj 

oelajQ ;%sfldaKh ks¾udKh

AC = 9.1 cm

,ïnh ks¾udKh

2
(4.3  ́5.5/2) cm

2n

2n - 1 + 2n = 4n - 1

1 + 2, 3 + 4, 5 + 6, 7 + 8

3, 7, 11, 15

µµ&

µµµ&

µ¶&

10

10

¸¸ - B fldgi

= 40.6

^

^

^

^

^

^

^

^

^

^

^

^

^

^

^^

^

^

^ ^



ol=Kq m<d;a wOHdmk fomd¾;fïka;=j - .Ks;h ^ms<s;=re m;%h&10 fY%aKsh 

11'

12'

1

1

1

1

04

06

1

1

4

1

1

1

1

2

02

02

06

10

10

µ&

µµ&

µ&

µµ& 18

µµµ&

log10

log5 (2  ́x) = log  (6  ́3)5

= log 1000 = 310 

2x = 18

x = 9

125  ́24
3

lg 15.31 + lg 4.9 - lg 7.91

= 1.1850 + 0.6902 - 0.8981

= 0.9771

= antilg 0.9771

= 9.486

3

3

9

9

18

18

10

10

12

12

e = 40

e = 40

.eyekq
<uhs

.eyekq
<uhs

u,, l%Svd lrk
<uhs

u,, l%Svd lrk
<uhs

10

12

e = 40



https://lol.lk/

	Page 1
	Page 2
	Page 3
	Page 4

